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QUESTION 1

Which statement about the REORGCHK command is true? 

A. It cannot be run against the system catalog. 

B. It automatically calls RUNSTATS by default. 

C. It cannot be run against multidimensional clustering tables. 

D. It automatically calls REORG if it is determined that a reorg is necessary. 

Correct Answer: B 

 

QUESTION 2

Which statement about DB2 aggregate registry variables is true? 

A. An aggregate registry variable that is explicitly set by an application cannot be overwritten. 

B. An aggregate registry variable overrides any corresponding explicitly set registry variable. 

C. A registry variable that is explicitly set by an application can only be overwritten by aggregate registry variable. 

D. A registry variable that is implicitly configured through an aggregate registry variable may also be explicitly defined. 

Correct Answer: D 

 

QUESTION 3

If an MQT named Q1_SALES was created as follows: Which statement will execute successfully? 

A. DELETE FROM q1_sales 

B. REFRESH TABLE q1_sales 

C. INSERT INTO q1_sales VALUES(80.2) 

D. ALTER TABLE q1_sales REFRESH IMMEDIATE 

Correct Answer: B 
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QUESTION 4

If the following command is executed: 

Which statement is true? 

A. Rejected records will be inserted into the table SCHEMA2.E1 

B. Any indexes defined on table SCHEMA6.T1 will be marked invalid upon completion of the Load. 

C. While the Load is executing, other transactions can both read and write into table SCHEMA6.T1 

D. If using a remote database connection, the file "/mnt/datafile.del" must be accessible to the database server host. 

Correct Answer: A 

 

QUESTION 5

Which statement is true regarding the workload management dispatcher? 

A. The workload management dispatcher monitors work performed by entities executing in the DB2 system service
class. 

B. The workload management dispatcher monitors the allocation of CPU resources between service classes on a
system. 

C. The workload management dispatcher monitors non-DB2 work performed in fenced mode processes such as fenced
stored procedures. 

D. The workload management dispatcher monitors work performed by applications or middleware products that perform
a portion of their workoutside of the DB2 database manager. 

Correct Answer: B 
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